Cerchia la parte intera
35-246-8-1354-3217-24-83715-06-11,1-0,3-1,12-7-150 - 65,007

Cerchia la parte decimale
187-04-8,2-14,20-3,111-310,1-0,18-18-486,4-5-500-15

Completa
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Completa

03 + ....=1 090 + =1
05 + =1 085 + =1
02 + =1 0,900 + =1
0,25 + =1 0,500 + =1
07 + =1 080 + =1
0,50 + =1 034 + =1
Scomponi

03 = 28 =

07 = 0,78 =

04 = 125 =

17 = 436 =

011 = 1,251 =

0,30 = 1,002 =

Componi

2da,2u,4d,5¢c=

2h,2u,3d-=

4 da,8m:=

7 da,5m-=

3h,4u,8c=

1k,3h,7c-=

3d,2¢,8m=

2k, 2h,5da,7u,5¢c=
9da,8d,7¢c,1m=
4h,3u,5c,6m=
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